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BACHELOR’S DEGREE PROGRAMME
(BDP)

Term-End Examination
December, 2022

ELECTIVE COURSE : PUBLIC ADMINISTRATION
EPA-001 : ADMINISTRATIVE THEORY

Time : 3 hours Maximum Marks : 100
(Weightage : 70%)

Note: Answer the questions as per the instructions given

in each section.

SECTION 1

Answer any two of the following questions in about

500 words each. Each question carries 20 marks.

1. Describe the features and goals of New Public

Administration. 20
2. “The relationship between the generalists and
specialists is very complex.” Comment. 20
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3. Examine the characteristics of Bureaucracy as
identified by Karl Marx. 20

4. Discuss the concept and features of Auxiliary

Agencies. 20
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SECTION II

Answer any four of the following questions in about

250 words each. Each question carries 12 marks.

5.

10.

11.

12.

Discuss the scope and domain of public

administration.

Examine the liberal-democratic traditions in

public administration.

Describe  the elements of development

administration.

Bring out the significance of Coordination in

organisations.

What are the advantages and disadvantages of

hierarchy ?
Elucidate the qualities of a good supervisor.

Write a note on evolutionary perspective of

Administrative Theory.

Bring out the concept and significance of

administrative planning.

12

12

12

12

12

12

12

12
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SECTION III

Answer any two of the following questions in about

100 words each. Each question carries 6 marks.

13. Bring out the significance of comparative public

administration.

14. What is the meaning of the term Representative

Bureaucracy ?

15. Make a distinction between departments and

corporations.

16. Explain the basic features of hierarchy.
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